Manuals+ — User Manuals Simplified.

COMMAND ACCESS PD10-M-CVR Motorized Storefront Exit
Device Instruction Manual

Home » COMMAND ACCESS » COMMAND ACCESS PD10-M-CVR Motorized Storefront Exit Device Instruction

Manual ™
Contents
1 COMMAND ACCESS PD10-M-CVR Motorized Storefront Exit
Device

2 INSERT Instructions
3 TOOLS REQUIRED
4 Troubleshooting & Diagnostics
5 Electrified Exit Device
6 Concealed Vertical Rod
7 How to change hand
8 PD10 Parts Breakdown
9 Documents / Resources
9.1 References
10 Related Posts

® COMMAIEII? CEESSS

TECHN 0 G I

COMMAND ACCESS PD10-M-CVR Motorized Storefront Exit Device


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/command-access
https://manuals.plus/command-access/pd10-m-cvr-motorized-storefront-exit-device-manual.pdf

INSERT Instructions

The PD10-M-CVR is a storefront grade 1 exit device equipped with motor drive latch retraction. Retrofits
Doromatic 1690 & First Choice 3690.

*Certain parts may already be attached to rods

KIT INCLUDES

A. Head Cover pack

B. CVR Exit Device

C. Concealed Vertical Rods
D. Hinge Stile End Cap pack
E. Strike pack

F. Retractor & Pinion pack

G. Traveler pack

H. MOTOR KIT — Installed in exit device
I. 1- 50944 Molex Pigtail

J. 1- 50030 8’ Lead w/ VD Connector




TOOLS REQUIRED

o Cordless Drill

« Needlenose Pliers
« Measuring Tape

o 1/2 Drill bit

fCAT
POWWER i
SUPPLY ] ;;-

Cailing Tik ? f

f////‘}fr—:ﬁ

IIH. _rfl

[, | COMTROLLER

CARLH

L1 - REALER
_.I" e u i

POWER ,,L:‘ L1

RAMSFER = - -

PAODLCT T ,ﬂ,

_

Setting PUSH TO SET (PTS)
**Important Info**
Make sure to set PTS before finishing installation

« Step 1 — To enter PTS mode: Depress MM5 button & apply power. The device will emit 1 SHORT beep. The
device is now in PTS mode.

« Step 2 — While depressing the push pad, apply power. (i.e. presenting the credential to the reader).

« Step 3 — Continue to keep pad depressed, the device will emit 1 LONG Beep. After the beep has stopped,
release the pad and now the adjustment is complete. test the new location, If not to your liking repeat the 3

steps.

_MM3 SWITBHESﬁ

PUNER PTS

Co
L A

Troubleshooting & Diagnostics



Beeps | Explanation Solution
2 Beep Over Voltage > 30V unit will shut down. Check voltage & adjust to 24 V.
: Beep Under Voltage < 20V unit will shut down. Check voltage & adjust to 24 V.
4 Beep Failed Sensor Verify all 3 sensor wires are |nsta_1lled correctly. Replace sensor if p
S roblem persists by contacting office.
After 1st fail: 5 beeps then immediately attempts to retract again.
After 2nd fail: 5 beeps with pause in-between for 30 seconds then
device attempts to retract again.
5 Beep Retraction or dogging failure After 3rd fail: 5 beeps every 7 minutes, device will not attempt to r
5 etract.
To Reset: Depress bar for 5 seconds at any time.

Electrified Exit Device

Installation Example

Optional Module: '/[’:}\T moa \
Flaccl'nm’. POWER
SUPPLY

Ceiling Tile f

/

1 | CONTROLLER

CARD

LT _ READER
}-1-{ e i
]
POWER F14H
TRANSFER =

PRODUCT ] Legend

Standard Placement

Optianal Placement
....................

Concealed Vertical Rod

For Bottom Rod Latch Installation Template
All prep is shown on interior side of the door, except where noted.
Right hand door shown. (LHR)



i
g
-:r'|"'|
IE@
]
+
[= 5]
Ty

]

=4

- & [ Detail "D" 3 1
34" min from
I 154-20 Tap _/_ I_ face of
_ﬂ,} 2 Places frama stop
"— 196 [#9) Orill through || Detail "B"
CSink B2 to 348" dia
%" Min from __ |__,_ 2 Places
doar siop
Diatall D"
oA
NsKe face T "
DBH” B DH1.EI” 'B

Detail 'E" i.)_ﬁmr.mmne. an

f B L 196 (#9] Dl through

L 4 3 Calnk B27 10 378" dia

p__l- 40 SIB” ? - |

Cantar ol
“ank:

13" (2 Plcs)

o 1§
520 (2 Ples) il
2+ Win from __| 1 _1, 1
L 7,
eloor siop Detall “A" 4[] 8
4" min _—
a, froem door shop
Exglwalde Detall"c* e’
ol gaor, —= % for Rod Latch
el Dl & Chore ™ ¥
564" Deep @5 Ream 1/4-20 Tap
(2 Ples) (2 Ples)
= 10420 Tap
* | * o {2 Ples)
" 11 ity af
+E i L ; - Canbar of DE"'“‘:
* I 3.. _ ol Drervice
+-

Detall "E" *
with Cyllnder g.

Ditail "E"
without Cylindear

STEP 1 - Install Vertical Rods

(Rods are factory preset for door height of 83 3/16 and a cylinder location of 41 5/16- see page 9 for additional
details.)



« A Install top latch mechanism using 2 ea. #10-31X1/4 screws.
« B. Affix bent end of rod on door using rod bushing with “E” ring.

« C Install bottom rod assembly in the same manner as above.

STEP 2 — Mount Exit Device

« A Install the stile mounting bracket with 2 ea. 1/4-20 x 1/2 pan head screws. Leave space to capture the base

of the device. (See next slide)



« B Slide the end of baserail underneath the mounting bracket.
« C Attach head of device to stile with 2 ea. 1/4-20x1/2 flat head screws. Tighten screws on the head and tail of

the device.

STEP 3 - Drill Wire Chase

« A Remove lock stile end cap.



«» B Slide push pad off of baserail.
« C Drill the hole for our 2 pin power lead in-between the 2 mounting screws.

» D Feed the 2 pin power lead into the hole and connect to our MM4 module. Also, make sure to clean out any

debris left.
Note: Depending on where your power transfer is; next you would fish the other side of the power lead we
connected to the MM5 and hook up to your incoming power. If you have a portable tester this would be a good

time to test fire the motor.



« E Replace push pad, making sure the activating brackets and pins slide through the 3rd channel.

« F. Reinstall the lock stile end cap.

STEP 4 — Attach Vertical Rods

« A Before installing the traveller. Remove Axle screw, allowing the lifting arm to relax and move out of the way.



« C Install Traveller onto the bent end of the vertical rods.

« D Re-install Axle screw and tighten.

« D Install Pinion support bracket and tighten retainer screw.

Optional STEP - Installing Cylinder



Flat Side

« A Place Pinion with black cylinder bushing into the door with the cylinder tail piece sliding into the back of the
pinion.

Flat side of pinion facing up.

« B Add Retractor and Traveller lift bracket. Pick placement of pinion depending on desired function.
« C Reinstall Axle screw and tighten.



« A Check Top Rod operation.
When push pad is depress fully, top latch should open and allow top strike to pass, and swing freely.
Check Bottom Rod operation.
The bottom latch should not protrude more than 1/16 inch below the bottom of the door when the push pad is

depressed.

« B Install head cover with 2 ea. 10-32 x 3/8 screws.



« C Install hinge stile push pad cover with 2 ea. 8-32 x 1 1/2” screws. Now you set you latch retraction

adjustment with our “PTS” technology.

How to change hand

Lifting arm.

+ A Remove the Axle screw and lifting arm.

« B Flip the lifting arm to the other side of the assembly. Re-install Axle screw and tighten.

PD10 Parts Breakdown



Reference ﬁlunl‘mr

Number Description Part Number Per Device
1 Top Strike Kit - 55 ~ o038 1
Consists of:
Top Strike (1 ea.) 16001238
Strike Shim (3 ea.) 16001118

2 Top Latch Assembly 42 1
3 Jamb Mut 806 2
4 Latch Housing Screw 811-CL , 811-BR 4
5 Retaining E-Ring 809 2
] Rod Bushing 810 2
T Lock Stile Mounting Screw B1§ 2
8 Cylinder Bushing 16001004 1
] Pinion 16001007 1
10 Retractor 16001003 1
11 Axle Scraw 3 1
12 Traveler 16001098 1
13 Pinion Support Bracket 821 1
14 Cover Screw BO4 2
15 Center Case Cover 40 i
16 Dogging Key B19 1
17 Hinge Stile Mounting Screw B01 2
18 Channel End Cap a3 1
19 Hinge Stile Push Bar End Cap 30 1
20 End Cap Mounting Screw 802 2
21 Weighted Latch Guide w/ Screws 77 1
22 Bottom Latch Assy - Spring 45 1
23 Bottom Latch Assy - Weighted 76 1

_24 Lock Stile End Cap 50 1
25 LS End Cap Mounting Screw 838 2
26 Vertical Rod w/ locking nut 16001015 2




Reference Quantity

Number Description Part Number Per Device
S1 Axle Pins 14 2
53 Spring 23 1
S4 Spring Cap 24 1
S5 Roller Stop 17 2
57 Crank Bracket Assy. 9040 1
S8 Activating Connecting Rod 21 1
S9 Lock Stile Activating Bracket 9034 2
S11 Push Bar Bracket 15 1
US CUSTOMER SUPPORT1-888-622-2377
WWW.COMMANDACCESS.COM
CA CUSTOMER SUPPORT 1-855-823-3002

Documents / Resources

COMMAND ACCESS PD10-M-CVR Motorized Storefront Exit Device [pdf] Instruction Manu

al
PD10-M-CVR Motorized Storefront Exit Device, PD10-M-CVR, Motorized Storefront Exit Device
, Storefront Exit Device, Exit Device, Device

References

« © Command Access Technologies



http://www.commandaccess.com
https://manuals.plus/m/a2031a6867475c23ac9a8ecbd6c26de72f69e7be09d3a011501fa0c2e767afc4
https://manuals.plus/m/a2031a6867475c23ac9a8ecbd6c26de72f69e7be09d3a011501fa0c2e767afc4_optim.pdf
http://www.commandaccess.com

Manuals+,


https://manuals.plus/

	COMMAND ACCESS PD10-M-CVR Motorized Storefront Exit Device Instruction Manual
	COMMAND ACCESS PD10-M-CVR Motorized Storefront Exit Device
	INSERT Instructions
	TOOLS REQUIRED
	Troubleshooting & Diagnostics
	Electrified Exit Device
	Concealed Vertical Rod
	How to change hand
	PD10 Parts Breakdown
	Documents / Resources
	References



